
 
 
 
 

 

This video will teach us how to determine the anchorage length of the reinforced concrete 

element according to Eurocode 1992-1-1. The factors affecting the anchorage length and the 

concept behind it are reviewed. In the end, a straightforward example is provided to determine 

the required bar length.  

The example of the video: 

A simple beam with a length of 5 meters is with the class of C30/37 reinforced by 4T25 of 

class AH500. What is the minimum required length of the reinforcement?  
















